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PHILOSOPHY — HONOURS
Paper : DSE-B-1(a)
(An Enquiry Concerning Human Understanding— D. Hume)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Choose the correct alternatives in each question (any fen) : 1x10

(a)

(®)

(©)

(d)

(€)

®

(2)

(h)

@

)

According to Hume accurate and abstruse philosopher is

(i) Cicero (i) Aristotle (iii) Malebrarche (iv) Addison.
By metaphysics Hume means—

(i) Theology (i) Easy and obvious philosophy
(ili) Accurate and abstruse philosophy  (iv) Astronomy.
According to Hume ‘idea’ is—

(i) fictitous imagination (ii) main source of knowledge
(iii) faint copy of impression (iv) thoughts of our mind.
The law of association which plays main role in inferring future event is—
(i) Law of similarity (i) Law of contiguity
(iii) Law of opposition (iv) Law of causality.
‘Sun will not rise tomorrow.’— According to Hume this proposition is
(i) false (ii) self-contradictory
(i) probable (iv) inconceivable.
According to Hume, ‘lf you put your hand in fire it will burn’ because

(i) there is a necessary connection between them
(i) there is a regular conjunction between them
(iii) there is a special power in fire
(iv) it is impossible that fire will not burn.
According to Hume custom is
() social law (i) one kind of prejudice
(iii) guide to our practical life (iv) mental habit derived from our experience.
By ‘liberty’ it is meant
(i) indetermination of our will
(i) power of acting or not acting according to the determination of our will
(iif) violation of all kind of laws
(iv) none of the above.

‘Custom is the great guide of human life.'— Who said this?

(i) Kant (i) Locke (i) Hume (iv) Descartes.
According to Hume knowledge is

(i) Intuitive (i) Demonstrative (i) Sensible (iv) All of these.
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(k) According to Hume teleological argument for the existence of God is not acceptable because
(i) it is not derived from experience
(i) it violates the conditions of causal law
@ity God’s intention is unknown to us
(iv) it has no moral element.
() The supporter of excessive scepticism is

(i) Descartes (ify Hume (i) Pyrrho {iv) Kant.
2. Give short answers to any five of the following questions : 5x5
(a) ‘Difference between impression and idea is difference in degree.” — Explain following Hume,

(b) What are the different kind of laws of association according to Hume? -— Discuss with example.
{c) How does Hume distinguish between fiction and belief?

(d) What does Hume mean by probability of causes?

{e) Discuss with example that animals also learn from experience like men.

(f) What are Hume’s arguments against occasionalism?

{g) What does Hume mean by miracle? Mention one argument given by Hume against miracle.

(h) What is the main tenct of antecedent scepticism? How does Hume criticize it?

3. Answer any two from the following guestions : A
(a) (i) How does Hume distinguish between two kinds of philosophy in his ‘Enquiry’?
(i) Does he show any preference for either of them? 5+10

(b) ‘Causes and effects are discoverable not by reason, but by experience.’— Discuss the arguments
given by Hume in support of this view. 15

(c) What does Hume mean by necessary connection? Discuss, following Hume, whether we can know
this relation from the influence of our willpower on different organs of our body. 3+12

(d) What does Hume mean by liberty? Is liberty opposed to necessity? — Discuss. 3+12



